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Please make sure that the printed pages in this question paper are 15 in number
and 1t contains 20 questions.
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The Code No. on the top of the question paper shﬂufd be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet wzll be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don’ L make any mark on answers of objective
lype questions.
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Before answering the question, ensure that you have been supplied the correct and

complete question.paper, no claim in this regard, will be entertained after
examination.

2331



Lok (2) 2331=wi
() @f gT o @l g |
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i) &UE T P & I T ARG Ry Rar T 8 oMvH AT TF e G &

General Instmcti_nns :

(i) All questions are compulsory.

(ii) This question paper consists of 20 questions in total which are divided into
four Sections : 'A’, 'B', 'C' and 'D’:

Section ‘A’ : Question No. 1 of this Section has sixteen Objective Type
questions. Each question carries 1 mark.

Section 'B’' : This Section contain ten questions from Question Nos. 2 to 11.
Each question carries 2 marks.

Section 'C' : This Section contain five questions from Questimﬁ Nos. 12 to
16. Each question carries 4 marks.

Section 'D' : This Section contain four questions from Question Nos. 17 to
20. Each question carries 6 marks.

(iii) Section 'D' contains two questions in which internal choices are given. You
have to attempt only one alternative.
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SECTION - A

W@Ha@ﬁﬁﬂ?ﬁ?é FE:

Answer the following objective type questions :

1.

2331

(1)

2)

Rrefied § @ BiF-a1 G99 Red G (Null set) 78 & ?

(A WWﬁ%lﬂi@ﬁQﬁﬁﬂﬁﬁaW%

(B) ©H &¢ TSl (STHST WEH Add) H YR

(C) f{x:xTH WP GEAT & &l x < 5 x> 7)

(D) & FHMMR iﬁ[@ﬁ % IHae fegatt F1 Y=
Which of the following is not a null set ?

(A) Set of odd natural numbers divisible by 2
(B) Set of even prime numbers

(C) {x: x1is a natural numbér, x< 9O and x> 7}

(D) Set of points common to any two parallel lines

Rreffead & dF-ar g 7
A) (AUB'= ANB'
B) (AuB'= AUB’
C) (AnB = AnB

D) (AnB'= AnB

2331
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Which of the following is correct ?

(A) (A v B

= ANB'
B) (AvuB'= AUB
C) (AnB'= AnB'
(D) (A nB)= AnB

@ T Wmabhaer: . . 1

_ (A) 30°
11°

(B) -
i)y 2102

(D) &9 ¥ $ig et

C.pem =
Degree measure of i1 18+
(A) 30°
11~
(B) 3
(C) 210°
(D) None of these

WWw.mseducationtv.com



(5) 2331
(4) coS 75°H WA T ..o, R St il 1
The value of cos 75°is .......... .

(5) qrey er (Complex number) ~1++/3i T HUH (Modulus) g ;

(D) -1-+/3i

The modulus of the complex number -1+ J3i is:

(D) —1-=~8i
6) ST (Inequality) 2(x - 3) < 3(x - 1) F1 & - AT | 1

The solution of the inequality 2(x — 3) = 3(x - 5 e :

AGAIN Qﬁﬁmﬁwwm@ﬁﬁﬁﬁrﬂﬁaﬁﬁﬁﬁﬁ#mGJﬁtliffﬂFFﬁﬁ
1

(7)
g7
(A) 120 (B) 60
(C) 20 (D) S

ot P. T. Q.
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The number of different letters of the word with or without meaning which s |
can be made from the letters of the word AGAIN is : \

(A) 120 (B) 60
(C) 20 - (D) 5
(8) 1¥ 100 T% = TSl § /Fyg demelt & T @ 1
(A) 2525 .
(B) 5050 |
(C) 2500

(D) T ¥ Wiz &l

The sum of odd integers from 1 to 100 1s :

(A) 2525
(B) 5050
(C) 2500

(D) None of these

9 (x-2y) FTARA DM TR .oeovvnnnnn, | :
The fourth term in the expansion of (x — 2y)? 1S tiiiiiinnnn, ,
(10) %a_?r%, %, g, ......... H 1097 U% §T o ' ;

Find 10th term of the progression %, i , Z s :

; - oy . B 2T
2331 atieh-
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(11) x & 79 s fou Gegelt («, -1) @) (3, Q)ﬁﬁw%m%ﬁwa?rnaﬂmr(smpe)
2% TEE: ‘-

(A) 3/2

D) W ¥ g Tl

The value of x for which the line joining (x, —1) and (3, 2) has slope 2 1s:
(A) 3/2

(B) 3

(C) -3

(D) None of these

(12) éld:’ﬂﬂ 9x? + 4y2 — 36 % Ieh=dl (eccentricity) e - ’

(A) 5/3

P.iT2Q.
2331 | -



i “ kL - i\
b o= b ( B )
= T )

The eccentricity of the ellipse 9x2 + 4y_2 =36 is:

(A) +5/3
(C) 1

(D) None of these

(13) @il ®IF Y | | | ;

Fill in the blanks :

(14) @l == 93 | ;

d
g 61 o =

dx

Fill in the blanks :

d
~—(cosecx . Cot X) = ipueee.

dx
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(15) wFiige siiel & fre arsr § e et 1 gt fofaw :

Write the formula of mean deviation about mean for grouped data.

(16) af P(A)=-§-, P(B}:é A A U4 B UTET UG geAT ¥, A (A el B) @

q % . _ | 1

L¥

€ 5=

(D) & 4 iz &l

Given P(A):-g , B(B) :-é . A and B are mutually exclusive, then
P(Aor B) 1s :

3
(A) Py
4
(B) =
1
Q) . ==

(D) None of these |
b ' P.T.0.
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SECTION-B

G ) = | x| B @ T30 AR TR Aid (domain) A 9REY (range) 9T R

2

Draw the graph of the function flx) = | x| and write its domain and range.
R &I+ 3 | 2

cosSx—-cos9x  sin2x

sinl7x—-sin3x cos10x
Prove that :

cosbx—cos9x _ sin2x.;

sinl7x—-sin3x cosl0x
e "Cg = "Cy, W "C, W UH W B 2
If "Cg="Cy, then find "C,.

~ 2 -7 | |

Hﬁ?—,x,?@j“ﬁﬂ%%ﬁrxwmﬁmﬂﬁm 2

—f

Find the value of x if :;7-2—, X, — arein G. P,

2331 =
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6. WM x—7y+5=0% g {S;O)ﬁﬁﬁ"'ﬁwiﬁfﬂﬁﬂﬂqﬁrﬁ%m 2

Find the equation of the line perpendicular to the line x - 7y + 5 = 0 and

-~ passing through (3, 0).

r.7 ﬁ%ﬁﬁﬁﬁ@?x—@ﬁﬁ?yﬂﬂﬂaﬁ?bﬂ@ﬁﬁfﬂg%{dﬁ qldﬂﬂiﬁT

T T T ' | >

Find the equation of the circle passing through (0, 0) and cutting intercepts

aand b on x-axis and y-axis respectively.

8. = @1 A9 =T FINY : T 4

4 .
lim (x + 1)
x—0 X

Find the value of :

4
. |
i ey
x—:g[} X
x2 - - _ :
9. x 3 AUy T AT 5T HIToTT 5
3x-—-1
2
T X
Find derivative of w.r t..Xx
3x—1

10. w5 R F 5 @ AR 3 B0 R ¥ g R @ Fgesw 2 T Feet 9@, @ R #
A B9 @ TR 5 i) . . 2

A box contains 5 red balls and .3 green balls. If 2 balls are drawn at random

from the.box, what is the probability that both balls are red ?

| '.3331 P. T O.



11.

12.

13.

14.

15.

2331
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ﬁﬂfﬁﬁﬁﬂ%%wmw% @ 2 fd (Heads) a:ﬁ'{lq‘r: Taﬂ]eﬂ?fa?rmwcbnM
g B 2

Three coins are tossed once. Find the probability of getting 2 heads and 1 tail.

gig -y

SECTION - C

7 HIOT & ANF B 51 BT ¢ | 4
cos 3x + cos x — cos 2x= 0

Find the general solution of the equation :

cos 3x + cos x—cos 2x= 0.

&l gHiaY Afedl & n qﬁ%tﬁﬂcm YT (3n + 8) : (7n + 15) %,‘?.raﬂé‘a 159 T&[ @l
@Wﬁﬂﬂgﬁqi_ | 4

The sum of n terms of two arithmetic progressions are in. the ratio

(Bn+ 8) : (7Tn + 15). Find the ratio of their 15th terms.

g (-1, 3) § WM 3x—4y = 16 § @ T & & T & DN 4

Find the coordinates of the foot of perpendicular from the point (-1, 3) to the
line 3x -4y = 16,

_ 4x+OSsin x o ’
e fx)= 5x +4sin x’ E-ﬂ f(x) e ! . i
" 4x+58inx
If Jx)= 5x +4sinx” ﬁnd I (%)
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i A J ‘
AR (13) 2331
16. i sifewel & wreg olx ywig Reee s SR - 4
F-STRIeT 32-36 36-40 40-44 44-48 48-52
FRSTTT % 15 4 o1 3 120 25
Find mean and standard deviation of the following :
Class-Interval 32-36 36-40 40-44 44-48 48-252
Frequency 15 LG 52 Fe@las 22 29
Gl
SECTION-D

17. ©F & % 600 fqenfal & wd & 7 war 7 B 150 feredt @ 99 ¥, 225 Rt 3

G ¥ ol 100ﬁﬁﬁwﬁ?ﬁtﬁﬁﬁ%%|maﬁﬁmﬁaﬁqﬁ e}

(i) = AT FH Mt A& A B,
ii) fpae faemdl daa @ 99
(iii) e el aw i 9 § 7

6

In a survey of 600 students in a school, 150 students found to be taking Tea

and 225 taking Coffee and 100 were taking both Tea and Coffee. Find how

many students were :

() taking neither Coffee nor Tea,
(11) taking Tea only,

(iii) taking Coffee only ?

2331
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OR

X +
('3‘3'8-’*‘C-l-*EtitrS-y)2 +(sin x — simy)2 = 4(:952[ > y}

Prove that :

(cos x +cos y)? + (sinx ~ sin y)? = %052(1: > yj

18. TRMT T & RaarT & AR B S HiT

1 1 1 1 n
....... + —

+ + + =
2x%d ox8 8xll Bn-1)(B8n+2) o6n+4

Prove by Principle of Mathematical Induction that :

1 1 1 1 n

" 4o 2 e T R 5 =
2x5 5x8 8x11 T (Bn-1)(Bn+2) 6n+4

I
OR
e (x+iy)° =u+iv, E?rwiali fep
R .

X

If (x+ iy)3 =u+iv, then show that :

—+—=4(x? ~y?)
Xy

2331
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19. (x+1)°+(x-1)° s AW g T S @ orer 703 ¥ (V2 +1P + (V21 & '
"N ST i 6

Find (x + 1)6 +(x - 1)6 . Hence or otherwise find (\E + 1)6 + («E = 1)6-

20. s IR B P (3, 2, 4), 05, 4, -6) AR RO, 8, ~10) FRET ¥ 78 ¢ 517 AR
% PR & Q e omgum # Rviom & & 7 8

Prove that P (3, 2, -4), O[5, 4, -6) and R(9, 8, ~10) are collinear. Also find the
ratio in which Q dit_rides P R.

T T ]
i
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